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2A: DA SAD
M DHAE AEHH 2
Chol: DIRAHIA ®E B[ CEEEED
SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
Ogooaauy3)| SKANE% 1,600,000 ~1CH 1,600
OFUSE MHEEBSEE Jtg 53,300& *13Y 693
oozt & EXOISHE oA HESSEEI
el 130,000& *14Y 1,820
OSgoAR? WHSZLE It
164,560 52 823
OFplSEs 23 8E(SI)
2,920& *2,0000H 5,840
Otz & S| 22| 0 0
202 04d| 3,500 3,500 0
01 2L Y| 3,500 3,500 0
Ool& 0yl 3,500
NSHHEEBANR(EX) 43,584 48,382 N4,798
= 43,584
101 @121l 30,509 33,867 N 3,358
= 30,509
04 J|ZtH2ZXNEE S 30,509 33,867 AN 3,358
OII=EHHESEANR BEX 282 30,509
= 30,509
201 Bt A H| 4,358 4,839 N481
= 4,358
01 At 22l bl 4,358 4,839 N481
ONEHHESESAME HEFHI 4,358
= 4,358
202 044l 8,717 9,676 A 959
= 8,717
01 2LHOHI 8,717 9,676 A\ 959
OIIFHHSEMR 8,717
= 8,717
(O EER=1= 17,383 15,600 1,783
= 17,383
201 Bt A H| 12,883 10, 100 2,783
= 12,883
01 At 22l b 12,883 10, 100 2,783
OZZE LA (EYH L AREE S) 6,613
= 6,613
O YFRFA Z &I
7,000 *x3H x160 3,360
= 3,360
O LA Z2H 3l bl 170,000& *3H 510
=2 510
OASEI Z22=(4Aa6HEHI]) 800,000 «3H 2,400
= 2,400
202 04t 4,500 4,500 0
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2A: A2 AL
MM DMAS AAHF D
ol DIRAHIA #E SO CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 4,500
01 2L I 4,500 ,500 0
O 2 HdR2FX 20,000 »3H x75 4,500
= 4,500
IE2HSEAMNP(XHA) 3,300 ,300 0
201 et 3,300 ,300 0
02 23244 3,300 ,300 0
OMEEEAS RAE L 275,000 12 S ™ 3,300
MASE F0HA =2 895,039 ,831 N48,792
= 36,000
Xl 70,000
Jl 126,000
= 14,220
= 648,819
e 2zt EEHZ2 41,364 ,558 AN 194
HEZARKOL ZA ZH 41,364 558 £ 194
201 et d| 34,864 ,058 AN 194
01 AR 22l ] 34,478 34,573 A 95
OMEZ2AIXIF Ha K0l 600
— ZAICHAE X & 80,000 x5 A x1/2 200
— MEXAN 80,000 x5t A x1/2 200
— ESHXA L BHEXZA 80,0002 x58FA%1/2 200
OMNEZ2AIXI 282 =9 HEH
40,000 x 130 *43| *1/2 1,040
OnsTely EY 450,000 x6IH x1/2 1,350
OME 2 AKX} g8 ol
24 000 252 x23| x1/2 600
OMNEZAIXI THEHE MAEE 2L 1,350
— HP 8002 Xl 40,000 x40E +1/2 800
— HP 800& 2 55,000 «200H *1/2 550
OXNIt BEx2 26,268
— AMEXII.1 =) 19,747
— MEXIHT7.101=)
2,000Z! X| *37,800& *50%*30%*1/2 5,670
— oA L QIQAAEAH HEEE2
300Z& X|*37,800% *50%*30%*1/2 851
OZ2ANXNIEH 2 B2 HiolH 7Y
8,000& x1208 x1/2 480
OBsAMEIIAK}S MoAXNE M2
24 000 252 x23| «1/2 600
olgile 32 900
OBSAAHNAD A 300
OZeglyd gy (&et) 198,000 x5H E 990
02 2324 386 485 A 99
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fA: 2

Ha: JARBE FUBY €2
Sl ZoiH NNHN 29 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXEEMMEA E&FLE2 40,000
= 36,000
= 1,220
= 2,780
OXNEBTHEAAIY X2 2EEHIIIE2 1,000
OXNEZEA S&H| 500
OXNEMMZEAAIY S2FE(EH L AREE
TYS) 500
202 04d| 1,500 1,698 A 198
01 2L bl 1,500 1,698 A 198
OXETEAAY L HNAHSXH SR2FX 1,500
NEHE S = 103,125 180,837 NTT,712
EXNZSHEANAE 2H 38,671 117,672 79,001
201 et 32,671 62,409 N29,738
01 AP 2t 2] H| 2,900 27,910 A 25,010
OXNEAE 2 HA Kol 240,000 5= 1,200
OXNEHE g8 s 2 500
OXNEEBLEE AMRIII S
300, 000& *2CH x23] 1,200
02 B232%H| 29,771 34,499 N4 728
OO0l MUEH SSEANAEY RAES 1,360
OEXN . Z22EBAIAE SIEH 28,411
SFER O 120, 120,900 *8% 9,610
— ATEDN 144,615,563 *13% 18,801
202 o4l 6,000 6,000 0
01 2L I 6,000 6,000 0
OXNEAE AL=X 2,000
OEZ2HZ=AM AId= S XA 4,000
CE2YHFAANY 64,454 59, 165 5,289
201 gEt24y| 5,600 22,600 A 17,000
01 AP 22| H| 5,600 22,600 A 17,000
OE2Y FAAY ARIII |
300,000 x1CH *x23] 600
OEZHFAAMNY EE2=2 HE 5,000
401 AlEHIZL 2 0HY| 46,187 25,502 20,685
01 Al&EH| 46,187 25,502 20,685
OEZ2HZTA CHUHAIEZ A7 AEX 25,880
— KX OFLY Tt 4,500,000& =44 18,000
— AESELEpHSsHsE
640,000 *2I0+550,000 124 7,880
OEZHFEA CHHANEE RAESE 20,307
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2N

Ha: JARBE FUBY €2
ool ADAMS HEBY T4 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
AR DHFIALY 252,000 296,000 A 44,000
J| 126,000
= 126,000
402 BI2H X 20| M 252,000 296,000 A 44,000
Jl 126,000
= 126,000
02 OI2HCH &4 AF S HI 252,000 296,000 A 44,000
OAMHEOE DHFIIAY 4,000,000 x63= 252,000
J| 126,000
= 126,000
MNASHE dUHESZ2 201X XSAE 28,800 28,800 0
501 A2 28,800 28,800 0
01 212t X3 28,800 28,800 0
OMASHEZ dUHEZSS NMG(ZXEIH)
9,600,000& 3= 28,800
HIZ Sz oigt A=< H=2 10,000 0 10,000
o=t 5,000
= 5,000
402 SI2FXHE0| M 10,000 0 10,000
&< 5,000
= 5,000
01 QIZEXIE2AIE 2 X 10,000 0 10,000
OBIZES vat AUZFY 22
10,000,000 1= 10,000
& 5,000
= 5,000
OIAIS AMROIIIE S AIJIAAIEE S 8,000 0 8,000
= 8,000
402 SI2FXHE0| M 8,000 0 8,000
== 8,000
01 QIZEXIE2AIE 2 X 8,000 0 8,000
OeUA S MROIIE T AIIIAANAE B2
8,000,000 =14l 8,000
& 8,000
HAHSHAY (RS ALY 101,383 99, 185 2,198
olea 2HH| 41,023 39,127 1,896
HE Z2AI XD HptolaEd A 41,023 39,127 1,896
101 e1214| 41,023 39,127 1,896
03 2INHAZ2ZXNHE = 41,023 39,127 1,896
ORXIIFZEAF AALOIE ] 41,023
A=) 1,259,000 2% x 1201 & *85% 25,684
— J|Z=x=G 629,500) 2% x4 3| x85% 4,281
- = 629,500%2H *23| *85% 2,141
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SN RIREAD
Ha: HY22HAH|(BIRZ AL
Sel: o2y SR
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
— HA S| 755,400 x2H 23| 85% 2,569
— A2l 9,036 2% x20 Al 2t* 12E x85% 3,687
— A xe 48,2403 »2H x20 *85% 1,641
— =LY (R 40,0003 x1H x12& *85% 408
—ELY(RYD
20,0003 »3Y »12& *85% 612
Jl2 &l 60,360 60,058 302
OIAS ALY Jl2HH| 60,360 60,058 302
201 et 9| 24,000 24,300 A 300
01 AP 2t 2] H| 24,000 24,300 A 300
O S M0 A 19,200
O=2 &l S A 4,800
202 044 29,160 28,558 602
01 2L Hl 29,160 28,558 602
O S M0l A 29,160
203 ¥ 2 =&H| 7,200 7,200 0
03 Al =& 2 = X H| 3,000 3,000 0
OQIAZS AL Al ZHF S F&d| 3,000
04 EASHEIRFAH| 4,200 4,200 0
ORI SAIL BN 4,200
NASE &9 & ga &2 1,192,712 0 1,192,712
= 954,170
= 119,271
= 119,271
Jl=Me s ,192,712 0 1,192,712
= 954,170
& 119,271
= 119,271
FZHIHXSE ,192,712 0 1,192,712
= 954,170
& 119,271
= 119,271
301 et A= 666,912 0 666,912
= 533,530
= 66,691
= 66,691
01 Al B & X 262 666,912 0 666,912
OFH=N 666,912
= 533,530
& 66,691
= 66,691
403 XX SHHS K20 & 525,800 0 525,800
= 420,640
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2N
X ZH -
L= B

el

01 21 = AL Dt
HASSE o9 & g4 =2
INzMERE

SN FH-SA(EN) - MBAY - BES

M

52,580
52,580

MW

525,800

525,800
420,640
52,580
52,580
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